FORM 3 PHYSICS PAPER 2

MARKING SCHEME

	NO
	
	MARK / REMARK

	1.
	Suspend each of them in the earth magnetic field. Change their rest position and record the final direction. Repeat the procedure and record the directions. It is noted that magnetized rod will rest in the earth N – S direction each time. 



-(Accept iron fillings or magnet to test for repulsion
	 (1mk)

(1mk)

	
	
	2 marks

	2.
	When the magnetizing current flows, the domain align more and more as in stage OA(1. At A, all the domains have been aligned hence the force becomes constant(1 (saturation has taken place).


	1 mark

1mark

	
	
	2mks

	3.
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	1mk

1mk



	
	
	2mks

	4
	The flame ionizes the surrounding air; electrons in air neutralizes the electroscope ; hence the   leaf fall
	1mark

1mk

	
	
	2 mks

	5.
	Each cell provides about half the power /energy to the bulb hence they are drained of the power at a slower rate than in (a) (1mk

Overall resistance is higher in (a) than in (b) (1


	1 mk

1mk

	
	
	2 marks

	6.
	The object in the room shall east both shadow umbra and penumbra.


	1mk

	
	
	1mark

	7.
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	1 mk

1mk



	
	
	2marks

	8.
	(i) Diffraction would be more Pronounced (1

(ii)  Waves would not go past the opening (1


	1 mark

1mark

	
	
	2marks

	9.
	Distilled water is added to an accumulator to maintain the density of sulphuric acid at the normal value


	

	
	
	2mark

	10
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	1mark

1mark

1 mark

	
	
	3marks

	11.
	[image: image5.png]



	1mark



	
	
	1mark

	12.
	For an object placed between the focal point and the mirror, the image formed is magnified(  and Erect (









[image: image18.emf]1


	1mark

1mark



	
	
	2 marks

	13.
	When the resistance of the rheostat is Zero the current through Q is zero – P is bright, Q is not lit, When the resistance of the rheostat is very large no current flow through it so current is through P and Q and its equal the brightness is the same; 

	1 mark

	
	
	1 mark

	14.
	Frequancy


	1 mark



	
	
	1 mark

	
	Sub-totals
	25 marks


	
	SECTION B (55 MARKS).
	

	15.
	a) (i) Ohm’s law states that for a metallic Conductor, the Current flowing through is directly proportional to the p.d across its ends provided temperature ( and other physical condition) are kept constant

(iii) Its cross sectional area 
Length of the conductor
(b). [image: image19.emf]1

(i) 
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	1mk

1mk

1mk

1mk

1mk

1mk

1mk

1mk

1mk

	
	
	9 marks

	16.
	(a) Induction method
     Contact method
(b).This is the region around a charged body where the force of attraction or repulsion is felt.

(c).(i) They are directed away from a positive charge and towards the negative charge.

        (ii). They do not cross each other.

        (iii)They are parallel at a uniform field, widely spaced at weak fields, closely arranged at strong fields.

d). A magnet attracts magnetic materials and unlike pole of another magnet but only repels like pole of a magnet.


	1mk

1mk

1mk

1mk

1mk

1mk

1mk

	
	
	7 marks

	17.
	(a) Flemings left hand rule;

If the thumb, first and second fingers of the left hand are held at right angles to each other, then if the first finger represents the direction of the magnetic field and the second finger the direction of current, thumb represents the direction of motion;

(b)

[image: image17.png]



(c) when the push button switch  is pushed on,  current flow ; the soft iron core is magnetized;

Soft iron core (magnetized ) attract, the soft iron armature and the hammer hits the gong ;

Meanwhile the contact is broken stopping current flow. The core demagnetized releases the armature and the hammer goes back;

The process is repeated again ;

(ii)If the armature is made of steel ; the hammer hits the gong and remains there / the bell rings once ; this is because steel acquires permanent magnetism ;

(iii).the soft iron core should be u – shaped ;
(d) the diaphragm can be made to vibrate using sound input ; √
As the coil attached to it vibrates cutting the magnetic fields of the  magnet; √
current is induced in it which can be amplified and directed to another loud speaker; √
	1 mark

1 mark

1 mark

1 mark

1 mark

1 mark
1 mark

1 mark

1 mark

1 mark

1 mark

1 mark

1mark
1 mark



	
	   
	14marks

	18.
	a)  1.89 sin c = 1.52 sin 900 √
             sin c = 1.52 /1.89

                   c = sin-1(0.8042) √
                      = 53.50 √
 b). (i) Snell’s law states that the ratio of the sine of the angle of incidence to the sine of the angle of refraction is a constant  √
      (ii). Mirrors absorb some of the incident light      √

                 Mirrors, especially if they are thick, produce multiple images  √

             The silvering on mirrors can become tarnished and peel off   √
c)(i) Dilute sulphuric acid 
         Lead plates

   (ii)  Q = It

         42 =  6 x t
           t = 42/6

             = 7 hours
	1mk
1mk

1mk

1 mk

1mk
1mk

Any two

1mk

1mk

1mk

1mk



	
	
	10 marks

	19.
	a) Number of coils

    Amount of current

b)(i)The rule tilts anti-clockwise i.e to the left  √
Soft iron core become magnetized   √ attracting the magnet because the upper end the  soft iron core attains south pole. √ (clock rule)
(ii) The ruler tilts clockwise i.e to the right  √  

        The soft iron core becomes magnetized  √

        The upper end of the iron core attains a north pole repelling the north pole of the magnet. √

(iii) -Strength of an electromagnet can be varied unlike a magnet  √
       - Polarity of an electromagnet can be changed unlike a magnet whose poles are permanent  √
        The magnetism of an electromagnet can be switched on and off as required

(iv) In industries for lifting scraps   √
       In loud speakers  √
       In headphones √
(v) If a solenoid is viewed from one end and the current is flowing clockwise √ in the solenoid, then that end will be a south pole and if the current flows in anti-clockwise direction then that end will the north pole. √
	1mk

1mk

1mk

1mk

1mk

1mk

1mk

1mk

1mk

1mk
Any two.
1mk

1mk

1mk

1mk
1mk

	
	
	15 marks

	
	Sub total
	55 mrks

	
	GRAND TOTAL
	80 Marks
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Pattern of field;


Direction of field;


Direction of force;
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